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1010F= &I &t 24,772,395 17,722,587 7,049,808
= 64,800
& 1,970,000
= 30,000
= 1,532,600
= 21,174,995
s X& 8,788,940 5,689,850 3,099,090
& 1,370,000
= 30,000
= 1,000,000
= 6,388,940
s Hd 6,418,940 3,329,850 3,089,090
= 30,000
= 1,000,000
= 5,388,940
=gt 169,040 65,680 103,360
= 30,000
= 139,040
201 LBt | 14,260 12,200 2,060
01 AtSR2t2ldl 14,260 12,200 2,060
ozgd=+¢ 5,460
ONBHNMNEERS 70,0003 x20H x33| 4,200
ouw=addl &ofA3 70,000 x6Z 33| 1,260
O=&l 5,200
oWEXA FRFA OfAHI 5,200,000& 5,200
Oger=ZH| 2,400
o JIEtALRHI 200,000& = 12& 2,400
oYtz 1,200
owsE ARFA (X ) 400,000 x33| 1,200
202 04 H| 10,780 10,780 0
01 =LA b 10,780 10,780 0
OQuUsXIHRFE Kyl 10,780,000& 10,780
203 HRF&Y| 4,000 2,700 1,300
03 AIMMFE&HRF=EIH| 4,000 2,700 1,300
O10108 2 AlIEE=A 4,000,000& 4,000
307 BI2t0l™ 10,000 0 10,000
02 QIZ+AAMEX 10,000 0 10,000
Oguzstes XA 10,000,000& 10,000
308 AXIHMSOIA 130,000 40,000 90,000
= 30,000
= 100,000
06 W=II2HNUStEXS 130,000 40,000 90,000
O3 M2 2EXA 130,000
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OBBEAHZ AT 70,000,0002 174 A 70,000
= 30,000
2 40,000
OXS(SMOIZ)EANT SYN
5,000,00024 *129H 2 60,000
=1 1 1,440,000 840,000 600,000
201 Y2 Y| 80,000 80,000 0
01 AFR 22/t 80,000 80,000 0
ouxz 80,000
0 PICHSI ORI S BHH A %BOHHI ik
2,000,00021 *474 4 %102 80,000
307 212H0I 60,000 60,000 0
05 DI2H9IEta 60,000 60,000 0
OX, Z8th AOIHAZ 2% 60,000,0002 60,000
308 X+XI IS 0l & 1,300,000 700,000 600,000
06 DI BB ST 1,300,000 700,000 600,000
O%.2,0 N (34Hn) 300,000, 0002 300,000
ODNSsD ¢ & 81 NA(THR)
150,000,0002 150,000
OJI%8 YD N (HFUADSED)
50,000,0002 174 2 50,000
OMBZSSD SA4 A 300,000,0008 300,000
OZYDSsD [&a SX  500,000,0008 500,000
st X2 300,000 510,000 A210,000
308 XHXI IS 0l & 300,000 510,000 A210,000
06 DRI BNLE ST 300,000 510,000 210,000
OXNets ST 150,000,000 *27H 10 300,000
D24 XY 4,509,900 1,714,170 2,795,730
= 1,000,000
2 3,509,900
201 Y2 ay] 1,680 0 1,680
01 ALR2relHl 1,680 0 1,680
o2g+g 1,680
SELREEED 70,0002 122 +23] 1,680
207 1IN Y| 50,000 0 50,000
NIEEEET 50,000 0 50,000
OStDBAME SHUot P
50,000,000 50,000
301 YErEA3 3,000 3,000 0
10 BALAH B AD 3,000 3,000 0
OStDBAME 2g2e 3 i
1,000,0002 33| 3,000
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308 XX HHSOIA 3,000,000 1,711,170 1,288,830
06 WEIIZ0UEEXS 3,000,000 1,711,170 1,288,830
OoaU =,5,158n 24a=4 2,639,317
oEXSSW(17H1) 650,841,000 650, 841
oE&W(11I11) 735,431,000& 735,431
0SS (7o) 1,253,045,000& 1,253,045
OSA=SMS(ABY)IA AEH N
360,683,000& 360,683
401 AIEHIZ 2 1,455,220 0 1,455,220
= 1,000,000
= 455,220
01 Al&t| 1,450,000 0 1,450,000
Ostugaldy H4¢ 1,450,000, 0002 14 1,450,000
< 1,000,000
= 450,000
03 Al 20| 5,220 0 5,220
O ugady A8 A&
1,450,000,000& *0. 36% 5,220
M3 WS 2,370,000 2,360,000 10,000
3 1,370,000
= 1,000,000
AEZAAY (1010F T EH) 2,370,000 2,360,000 10,000
= 1,370,000
= 1,000,000
201 LBt A 20,000 20,000 0
= 20,000
01 AFR 22l 20,000 20,000 0
O=Hs UsZA 88 20,000, 000& 20,000
= 20,000
307 212t01& 160,000 160,000 0
= 160,000
05 CIZtRAEZ 160,000 160,000 0
Ogsa3AMUSMNE L el HEH>
160,000, 000& 160,000
= 160,000
308 MHXIHHMSOIA ,910,000 1,970,000 A 60,000
= 910,000
= 1,000,000
06 WRII20USEExZ 1,910,000 1,970,000 260,000
OHBINESSHEH L F0 Speaking Al
s 29 340,000,000& 340,000
= 340,000
OB ZALXIA 1,000, 000,000& 1,000,000
OZEegsuedHEs 22 120,000,000& 120,000
= 120,000




A 1010F8E

M e X
e 2HE 0E (Gt & Q)
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0fl &t 01
O=ZHM3NEsEd 22t L T2 g
330,000, 000& 330,000
Z 330,000
OFAEZ2NS WEAS 15,000, 000& 83| 120,000
2 120,000
403 MXISHHSA20H 280,000 210,000 70,000
& 280,000
02 Z2I| &S0 CHSHHEH AL HI 280,000 210,000 70,000
ogozs 29 30,000, 000& *23| 60,000
Z 60,000
OFY o 2L 358 29
25,000,000& 23] 50,000
Z 50,000
OKNSU A HHHE XNE & StSWFAA(
AHOIHH AIE]) 20,000,000& 120,000
Z 120,000
O=2H3zus d)Ed 89 50,000,000& 50,000
Z 50,000
HMsts K& 463,310 392,000 71,310
c 50,000
= 413,310
HMSIEERI =4 463,310 392,000 71,310
== 50,000
iy 413,310
LMsSIGHE 29 28,310 23,000 5,310
201 B2 HH| 28,310 23,000 5,310
01 AIR&2|H| 26,310 21,000 5,310
Ogt=2H| 15,000
OBMSIEHE 2L P
10,000,000 10,000
oEMu=E AAX HE 2,500,000& x2& 5,000
o2g4 7,310
oBMESEOY 2HAT
70,000 x11H *33] 2,310
CHMBISHE 29 LA =Y
5,000,000 =14 5,000
Odx= 4,000
0N U BMES ARIH (XY, BT S)
400,000& x103] 4,000
02 =324t 2,000 2,000 0
OEMeIEE o3 222 A3 2,000,000 2,000
TMets T2 ) 29 230,000 179,000 51,000
= 50,000
= 180,000
201 dBr2a | 106,000 60,000 46,000
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& 50,000
[ 56,000
AR 22l HI 45,000 49,000 24,000
OB 2H| 45,000
odOZMNuE KJAS 30,000, 000& 30,000
08, 0 BMsET2 Y
15,000,000& 15,000
HA2 G HI 61,000 11,000 50,000
OBMES BHT L 23| W
6,000,0002 6,000
OmMSSSOl2 AZES L YAE Wi
5,000,000& 5,000
OBMSIST Al 24835 AFY 50,000,000& 50,000
= 50,000
SN 4,000 4,000 0
SHALAIHIZE A2 4,000 4,000 0
OBMSIESER NASAL a2
0,000 x100Y »23] 2,000
OBMBISTZ 2 OI&H3) 2a
02 100 x23 2,000
oI2tol & 105,000 100,000 5,000
QI2HSH AL = 105,000 100,000 5,000
OgMdstEs0tel 22 20,000,000& 20,000
OJZ, B S4Z2IUZTIAY
35,000,000 35,000
OXNSELEZ ) 30,000,000& 30,000
OHEOtHIOl 29 20,000,000 20,000
TXISHH SO0 A 15,000 15,000 0
nRI|2ZoUetEx3 15,000 15,000 0
Ogty BMsisZ2)H 15,000,000& 15,000
=3 /Ae=2d 120,000 100,000 20,000
403 NXIEMSK=01H 120,000 100,000 20,000
02 I/ 2SOCHSHCHE ALY 120,000 100,000 20,000
OBMDSY e 2 100,000,0002 100,000
OBMBIESZAEX R 2
20,000,000& 20,000
=0 85,000 90,000 25,000
2Bt A Y| 35,000 40,000 25,000
AR 22l H| 20,000 25,000 25,000
OM4sl HEBMSISS 20,000,000 20,000
HAL2 G HI 15,000 15,000 0
OM93l MABMSISEH &IIAILZH|
15,000, 0002 15,000
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SN (B) - MBEAY - B2 0f Ao Soe HRZ2
307 QI2to| A 50,000 50,000 0
05 QIZHREZ 50,000 50,000 0
ON4dzl HEMHsS s 50,000,000& 50,000
PN es 275,616 294,932 N 19,316
HF0o132 1024y XA 275,616 294,932 N 19,316
OIS IIAIZE =X 95,616 129,932 N34,316
201 dBr23 | 51,436 30,672 20,764
01 At22telyl 23,036 28,672 N5,636
Odet=2H| 14,900
oNMEAY AIMEEZ HAH
3,000& *5& *x500F 7,500
oNMEAIZ R SEZHIENME
55,000& x15J*x23| 1,650
oNEAIE ZE AIEE(Z1) 3,350,000 3,350
o JIEtAFSRHI 200,000& x12& 2,400
o2ds4 2,940
OAMOIHZ0l 2RI 23+
70,0003 x14H *33| 2,940
OZ &l 5,196
oNMEAIY BRFE OHAIH] 5,196, 000& 5,196
02 =294l 2,000 2,000 0
OXSAY HRFX 2HF 400,000& 53| 2,000
03 #HAI2SEHI 26,400 0 26,400
OAOIHZOI0FS )| E20|HE =
3,000,000& *43] 12,000
O8I0 & A 22|
1,200,000& 121 =™ 14,400
202 (4 12,680 8,760 3,920
01 2| 12,680 8,760 3,920
ONEAIY HRF=A | 12,680,000& 12,680
301 B8 A= 16,000 17,400 A 1,400
12 JIEt2 A2 16,000 1,000 15,000
OAOIH 201 Ol el Xl 242 15,000
osdtt=E HEA 5,000& *2,000™ 10,000
osdE HEA 10,000& *500H 5,000
Ol PAIZHHICHXF AlAZ2 1,000,000& 1,000
303 EAZ 5,500 5,500 0
01 Za3 5,500 5,500 0
OQUREINSHAIHY RAHZLH TAD
2,000,000& 2,000
OQFAIM 230 Al&S 3,500,000& 3,500
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307 QI2H0IH 0,000 0 10,000
05 PIZteIEr2 10,000 0 10,000
ODIEH0l 9ol & 29 5,000,000 %23l 10,000
OIREIAIH X2 180,000 165,000 15,000
301 LB B A 180,000 165,000 15,000
02 FEZUBKE 170,000 150,000 20,000
OMMIIAOIY DSt 3 T3
250, 0002 * 100% *43| 100,000
OFUN DSty otx 2
250,0002 *202 *43] 20,000
OFYMS Y Z83(HYFA2)
100,000 *300% 30,000
OFYDSEH ¥ (HYFAI)
100, 0002 %2002 20,000
12 JIEEN3 0,000 15,000 5,000
ORHFSK Y 242 500,000 *20%S 10,000
&g X 2 11,200,680 9,097,225 2,103,455
= 64,800
=l 600,000
= 482,600
2 10,053,280
SEIBIP= R LI E S 9,342,104 5,192,529 4,149,575
= 600,000
= 479,000
2 8,263, 104
SEIDIPNL= R 1,763, 104 5,192,529 ~3,429,425
201 Yer2 YY) 74,99 25,996 49,000
01 A2l 54,996 20,996 34,000
SIEIRE=Yi] 45,800
0EM 2 27 200,0002 *4Z% 800
oLLINAAWR| BT} A
4,0002!+1,0005 %35 12,000
0SLINYWR| SHA MR 15,000,000 15,000
osIMYWe| B CIXQ R
15,000, 0002 15,000
0JIEt AREE 250,000% * 122 3,000
o2zl 9,19
0LYINNY AR =X O4AIH 9,196,000 9,19
03 A2 | 20,000 5,000 15,000
OsLIIMYR xS B3| A
5,000,0002! 5,000
OLLIIMABWa| 0104 IIE AT
15,000, 0002 15,000
202 04t 23, 100 13,300 9,800
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01 =Lhoit| 23,100 13,300 9,800
OBLINAWRIES LRET 01
23,100, 0002 23,100
301 YerEa3 13,000 3,000 10,000
08 /I EHOIH 10,000 0 10,000
Os2olvgzs 2Ms9 Ha E=oi)
10,000,0002 10,000
10 BAAHIE A2 3,000 3,000 0
Osolague TL2E DS B4 243
10,0002 *100% x32] 3.000
306 E012 1,000,000 3,500,000 A2,500,000
01 5013 1,000,000 3,500,000 A2,500,000
ONFSLIIME JIEHL AL
1,000,000,0002 1,000,000
307 2120 F 142,520 82,520 60,000
EEEEE 142,520 82,520 60,000
ONFLAI MR £ 2HANE 2
142,520,0002! 142,520
401 A& =0HH| 509,488 1,567,713 A1,058,225
01 Al&H] 509,488 1,566,903 A1,057,415
OXNE=LIIME (RD) 218 500,000,000 500,000
ONFSIIME (RD) 21 A& ThH| 9,488
LRSS 266,002+ 182 X| 4,788
0AFTIIEA2 1,100, 0002 1,100
0 AlE 2T} 500,000, 0002 +0.72/ 100 3.600
S| W2 STEX X4 7,279,000 0 7,279,000
z 600,000
= 479,000
= 6,200,000
401 Al&HI2 =0 7,279,000 0 7,279,000
z 600,000
= 479,000
2 6,200,000
01 Al&H] 7,219,973 0 7,219,973
ONFSLIWESBHN E4 A
7,219,973, 0002 * 141 7,219,973
z 600,000
= 479,000
2 6,140,973
03 Al&=0hHI 59,027 0 59,027
ONFSLIIWSSBEX X4 AlE2H 59,027
0oZYL4E 186, 0002 +2002 X 37,200
0AWTIIEA2
6. 163,000, 0002 %7/10,000+2 8,629
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o S CH 5,279,000, 0002 +0.25/100 13,198
NESAINHLSEBEA 2. HAHel AL 300,000 0 300,000
401 Al Bl L 2Tyl 300,000 0 300,000
01 Al&t] 300,000 0 300,000
O HFSAINHSSBEN 2. H+ HeAL
300,000,000%! 300,000
e R 1,858,576 3,904,606 ~2,046, 120
2 64,800
= 3,600
2 1,790,176
ez £ 1,786,576 3,862,606 £2,076, 120
201 ere | 18,996 1,396 7,600
01 At 22l 18,996 1,396 7,600
SHEES=1t] 10,800
0EAN 2 H2TY 200, 0008 +4%5 800
0JYRASEE M= 4,000,0008 14! 4,000
0JIYYS JIEE ME 30,000 100} <128 3.600
0 JIEF AP 200,002 %128 2,400
ozl 8,196
0JIYKE AR FF O4AH 8,196,002 8,196
202 0iH] 20,680 13,300 7,380
01 2UHoit] 20,680 3,300 7,380
OJYRI YLET 20,680,0002! 20,680
01 YsrE a3 21,400 15,000 6,400
02 Hatza st 15,000 15,000 0
022X X4 FE2
(2,000,000 »CH 5+ 442 )+(1,000, 0008« 1 S 15,000
st 7))
10 SAHAHI 2 A3 1,400 0 1,400
OJIAE A5 SIOIEA B4 30,0002 6% 53] 900
OSNRIES a2y 50,0002 *10% 500
12 JIErE A3 5,000 0 5,000
OJIYRA S12t0 B4 5,000, 000%! 5,000
303 T3 5,000 10,000 A5,000
01 T3 5,000 10,000 5,000
OJYRX RBX E4 5,000,0002 5,000
307 12t0 H 51,500 20,000 31,500
02 SIANFMBE 51,500 20,000 31,500
OMSABIRHLAZKE 2,000,000 5H | 10,000
OFBSHE YHEX 0,000,0002 10,000
O&E 2 O3 ¥ 2,000,002 55| 10,000
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OJIHSE 001X XA
2,500,000 %3741 & 7,500
OZHFAIS (223 &K
2,000,000 %3741 &} 6,000
OMAAIHIH= X & 2,500,0009! %2741 & 5,000
OSAJILAUBAIXI® 500,009 %642 & 3,000
308 XIXIEHH SO 487,000 0 487,000
05 MXISHALS S 487,000 0 487,000
C ENTEIIS VE(SIRN 506201% 8
I PRea) 487,000,000 487,000
401 Al HIL 2RI 182,000 3,790,000 2,608,000
01 A& 175,750 3,784,393 12,608,643
OFZUTHX AN LA 190,000
0BHEN ZHAY 190,000, 0002 %141 190,000
OJILRR JIPAILE &X 985,750
CXYEZ, WY, MELE S
109,307,000 * 14! 109,307
0SYUBFAACHX] J|BAI L X2
876,443,0002 14} 876,443
03 Al& =0 6,250 5,607 643
OJIYRX AFY =T AIELHH]
992,000,000% 0.63/ 100 6,250
182x2 XY 72,000 42,000 30,000
= 64,800
= 3,600
= 3,600
307 QI2t0IH 72,000 42,000 30,000
= 64,800
= 3,600
= 3,600
02 SI2ABAE X 72,000 42,000 30,000
OXgly N8EEXS X
600, 0008+ 102 12 72,000
= 64,800
= 3,600
= 3,600
WHS A (101052 ) 43,849 48,580 ~4,731
122l 43,849 48,580 £4,731
123l 43,849 48,580 £4,731
201 Lete gyl 29,849 34,580 £4,731
01 At 22l 27,149 31,880 A4, 731
OYer4gY| 22,149
0012 NPEEZ JY 70,0008 17233 3,570
osWERIE) £ 225, 000! *6C§*33] 4,050
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439,0002 *1CH +444x1 . 53] 2,634
OZBEARS 50,000 *6LH *2.53] 750
oS A EH 375,000& »1CH »32l 1,125
CE=INE=DN 30,0003 17«83l 4,080
oMER=ER 70,0008 * 122 840
o RMES2YHI 25,0003 *17Z«12& 5,100
O=gl 5,000
OBUARFX(ZSS) HAHI 5,000,000& 5,000
02 =234l 2,700 2,700 0
OoRER=a 2,700
oEERH 2502 +ZH 20001 =12& 600
osJ|I®H 1,750 »& 10004« 122 2,100
202 O4dl 14,000 14,000 0
01 =Y 14,000 14,000 0
OBAALRFXHI(SE) 14,000, 000& 14,000
HEES(1010F 8 E) 2,000,000 1,700,000 300,000
LHEHHXIE 2,000,000 1,700,000 300,000
F2&sts| K& 2,000,000 1,700,000 300,000
306 EH3 2,000,000 1,700,000 300,000
01 =93 2,000,000 1,700,000 300,000
O(M)H&E=2XES &EAH3 2,000,000,000& 2,000,000
HEES(1010F 8 E) 2,000,000 500,000 1,500,000
LHEHH XIE 2,000,000 500,000 1,500,000
2 |40z HE 2,000,000 500,000 1,500,000
02 JIsdES 2,000,000 500,000 1,500,000
01 JI3dE= 2,000,000 500,000 1,500,000
OsAJIYg S48 8= 2,000,000,000& 2,000,000
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